EXPLODED VIEW & PARTS LIST S G S N DW B D A R D S
/_@\

SGSNOWBOARDS.COM

9 SVALL SIZE oS
4
. _LARGE SIZE 7/ SMALL SIZE
4
/ 4

/7

)

O]

ETH‘Q@@ ®

T R
.

I, 1

o

1

1

1

1

1

1

1

I . i

-
@ -
v -
-
-

“ AR T-' :

©
®

v

--a

No. PartCODE ITEM USE Pes. < 1 LIFT

1 SGB01 B Hex Nut Bracket Assembly 16 : : '

2 SGB02 Cross Dowel Bracket Assembly 4 1 ' H

3 SGBO03 Screw Buckle Assembly 4 , , H

4 SGB04 M6x22mm Bracket Mounting 8 ' ' '

5 SGBO05 M6x35mm Bracket Mounting 4 : : ' @ :

6 SGB06 M6x60mm Bracket Assembly 4 : : __J CANTING

7 SGB08 Washer 6,4AMM  Bracket Assembly 8 ' ' '

8 SGBO09 Nut M6 Bracket Assembly 4 H H !

9 SGB10 Spherical Washer Bracket Mounting 8 1 1 ' @

10  SGB11STD Bail Front Bail Toe STD 2 . :

11 SGB12 STD Bail Back Bail Heel STD 2

12 SGB12 NW  Bail Back Bail Heel NW 2

13 SGB13 Baseplate Baseplate 2

14 SGB15 Disk Mounting Disk 2

15 SGB16 Bracket Bracket 4

16 SGB17 Sled Front Sled toe 2

17 SGB18 Sled Back Sled heel 2

18 SGB19 Buckle Buckle 2

19 SGB20 Buckle Cover Buckle Cover 2

20  SGB21 Lift High Lift high 2

21 SGB22 Lift Low Lift low 2 Naver assambla
22 sSGB23 Canting Canting 4 bindings without
23 SGB24 Disk Cover Disk Cover 2 spherical washers
24 SGB25 Plate Cover Plate Cover 2

27 SGB27 4mm Allen Key  Adjust and Assemble 1 R S
28 SGB28 Disk Sticker disk cover 2

29 SGB29 M6x12 Binding/Board Mount 8 B I I\I D I I\I G S

20220607




IF YOU HAVE ANY QUESTIONS ABOUT YOUR NEW BINDINGS OR

SCREWS ® O) Scale 11 ToOLS HOW TO BEST SET THEM UP DON'T HESITATE TO CONTACT US.
Your SG Bindings come with a professional quality
g allen key. Only use a high quality tool such as the one FOROBET\?I"E-Egl'IrNEsg:%%H?LTBSEPI!:-E:%E“‘E’:_SIT
— we provide.
) “SILENT TUNING WITH SIGI”
The allen key can safely be stored under the disk
cover and will always be there if you need it.
@ Never use powertools to adjust and mount your
bindings, this may damage your bindings and screw
< heads.
Spherical SGBO0O5 SGB04 SGB29 Adi bindi h lorl . HANDCRAFTED
washer MEx35 M6x22  M6x12 the sled averlaps the bracket a6 much a5 possible IN AUSTRIA
8x 4x 8x 8x SETUP NOTES
LIFT

A\

g

-

e\

Never assemble
bindings without
spherical washers.
Flat on flat!

BINDING ANGLES

We suggest these angle ranges: Front: 45°-57°, Back: 43°-54°
Try to eliminate heel and toe drag as much as possible.

Use 35mm screws
only with high lift
No. SGB21

NO LIFT

Use 22mm screws
No. SGB04

SG SNOWBOARDS

all mountain sports
Vertriebs-Gmbh

Untergaimberg 1 1
9905 Gaimberg
Tirol / Austria

Ph: +43 4852 687 0O 37
cell: +43 6684 12 12 521
mail@esgsnowboards.com




